More Circle Questions
1.
Piero’s Pizzeria bakes cheese strips on the outer crust of its 50 cm (diameter) pizza. There is at least one cheese strip per 2.5 cm of crust. How many cheese strips will you get in one slice of pizza, if the pizza is cut into eight equal pieces?
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2.
To use the machine below, you turn the crank, which turns the pulley wheel, which winds the rope and lifts the box. Through how many rotations must you turn the crank to lift the box 10 metres?

3.
A satellite in geostationary orbit stays over the same spot on Earth. The satellite completes one orbit in the same time that Earth rotates once about its axis (23.93 hours). If the satellite’s orbit has radius
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4.
You can make an electromagnet by wrapping a wire around a nail and then sending a current through the wire. The strength of the magnet is directly proportional to the number of wrappings. The nail, pictured below, has a diameter of 0.4 cm. The wire is 0.05 cm in diameter, and you can get 100 wrappings on the nail before you have to start another layer. Assume each wrapping forms a perfect circle. How many metres of wire do you need to make a magnet with 700 wrappings. Give your answer to the nearest 0.1 m.

5.
You want to decorate the side of a cylindrical can by colouring a rectangular piece of paper and wrapping it around the can. The paper is 19 cm by 29 cm. Find the two possible diameters of the can, to the nearest     0.01 cm. Assume the paper fits exactly.

6.
As you sit in your chair, you are whirling through space with Earth as it moves around the sun. If the average distance from Earth to the sun is 
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 m and Earth completes one revolution every 364.25 days, what is your “sitting” speed in space relative to the sun? Give your answer in km/h, rounded to the nearest 100 km.
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